Physics 2325 - Dr. Terry Honan

= Test 2 - A - Answers
Problem1 (i) E (i) A (iii) D
Problem 2 168 N
Problem 3 (a) 23.5N (b) —241J
Problem 4 (a) 22200 N (b) 112.6°

Problem 5 (a) \/5gL (b) \/Rgtan6 (c)0.204
Problem 6 (a) 15.81bs (b) 2.14 2
S

Problem7 a-= %
Problem 8 374N
m Test 2 - B - Answers
Problem 1 (i) D (ii) C (ii) B
Problem 2 (i) positive (ii) negative (iii) negative
Problem 3 (a) 55.11bs (b) 0.117m

Problemd T; = ~— and T, =
sin 6

tan 6

Problem 5 (a) 39.2 N (b) 107.9°
m
Problem 6 459N
Problem 7 (a) 5 m (b)24.7° (c)-1680017J
S

Problem 8 (a) Wy =539N, W= —385N and Wy =0 = Wgray (b) 0.147

my —2my sinf
Problem9 o= 2 —1"—

dm| +my

Problem 10 (a) 1.63N



